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BYRSEFEEKE M  (2019.6~) 20244387
MRl | 24848 3K4E BE | -2 | BT v 7 | BMS| &4t
506.92|73.8( 3.1 | 8.2 | 9.7
if: ZRA| BEF 473.3 89| 23| 7.2| 12| A-5
if =il | EE 450.5 79 2| 83| 12| A-5
| FBFE | RE16509 525.6| 100| 2.6/ 8.2 12| A-5
if Bk |&F 515.0 66| 3.4 85| 12| A-5
M |EEEEE |Ei 624.6] 101| 3.1 10.2[ 12| A-5
if BIX |LRRA 579.4| 104| 2.4 9.2 12| A-5
1 |EZE BRI 500.5 78] 3.1 84| 12| A-5
1 |REA |BEF 466.5| 110 3.3| 75| 12| A-5
M |ERCHE |BEK 482.5 85| 33| 9.8 12| A-5
I |=EA | TR 508.2 65| 2.9 86| 12| A-5
1 |REA |BEF 496.1 67| 3.6 7.8 11| A-5
if Ak |FExE 496.6 62| 2.8 87| 11| A-5
i BX |RRA 455.8 57 4.8 75| 11| A-5
MR |BURER 511.0 78] 3.6 87| 11| A-5
M |(EIEE |BETF 482.5 67| 2.7 8.4 11| A-5
I |EBE |RE16509 451.0 84 3.2| 7.8 11| A-5
M |ERE | R 532.0 87 15| 84| 11| A-5
i b= = N e 556.7 72 3] 85| 11| A-5
M |ERKES |BAEK 490.7 75| 2.8 84| 11| A-5
I |BETE |RBA 515.9 741 3.6 7.9 11| A-5
¥ |EEE |RBA 485.9 78] 25 83| 11| A-5
i AIX |&=F 531.5 76| 2.9 9| 11| A-5
¥ |EERHTRA 495.0 711 35| 82| 11| A-5
It | ZRA |BEEF 436.4 9| 25 8 11| A-5
It |EERE |EFEE 518.3 72 3] 88| 11| A-5
M |ERKES |BAE 510.6 771 2.6 85| 11| A-5
M |ERKES |RBA 486.4 90| 2.9 8| 10| A-5
I |TRA |EKE 490.2 75 2.8 9.1| 10| A-5
i AR Tk 484.9 72 3] 8.4 10| A-5
i AR |BRA 571.7 78] 2.6 86| 10| A-5
I (R &= 530.0 78] 4.1 8.2 10| A-5
M |ERKER |BRE 491.7 711 3.6 7.8 10| A-5
M |EES | RRA 490.7 70| 2.7 8| 10| A-5
M (BB |FEDER 518.4 70 42| 7.8| 10| A-5
M |ERKER |EEK 405.9 58] 2.8 7.9| 10| A-5
M |BERTE | ERE 507.7 741 35| 82 9| A-5
It |EERE |BRF 512.1 53 4f 7.9 9| A-5
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I | RBA |BEE 493.6 771 24 9
1 E1E |BAIK 517.4 69| 3.6 9
I [FE | RBA 488.8 68| 2.9 8
I (BEEE |EXE 500.9 68| 3.2 8
I [T |RE 552.8 80| 3.5 8
if: BK |BEE 513.5 79| 3.1 8
I (EEK |e=E 554.3 72| 3.4 8
I |EEE | EEK 501.9 61| 3.4 8
if: B% | FEEE 509.1 62| 3.5 8
if: B% | FEEE 505.3 73] 3.6 8
I [FERE | RBA 463.6 76 3 8
I |EEL |RE 476.6 62 3 8
I ([BEE |REA 578.5 70| 3.6 8
I |RFEE |BEE 475.2 56| 2.3 7
i AX |&F 525.2 741 2.7 7
I [ | REA 485.8 58| 3.7 7
ij:3 Bk | EEKkE 583.4 771 2.1 7
I (BRTE &= 588.2 67| 3.8 7
¥ |52 |ZBA 532.9 82| 3.2 7
M RIS | 506.8 56| 1.7 7
I |REA |BEE 477.2 58 2.9 7
if: Bk [REA 495.6 57| 4.2 6
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